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1

Davrina plc

(1)

(2)

3)

(4)

()

Evaluate current financial performance and position,
including an analysis of sales using the pre-
populated data (Exhibit 2).

Assess the risk that it fails to achieve growth in the
future

Explain advantages and disadvantages of pursuing
a strategy of growth through acquisition

Assess financing options for acquisition-led growth
strategy (eg, cost of capital)

Financial reporting implications of acquisition-led
growth strategy (accounting treatment for intangibles
acquired)

Valuation and offer price for Ethernaze

Assess different approaches to valuation

Explain benefits of a CRM system

Recommend preferred financing method (lease or
buy) for the proposed system

Explain financial reporting implications of the new
IT systems

Total marks

Marks

15

15

10

g |
(9)] ~

(1) Financial performance and position of Davrina: is there a risk of loss of

growth?

Before expressing any reservations about the financial situation and prospects
of Davrina, it should be stated that the company enjoyed 33% growth in sales

revenue in 20X7 and its net profit margin was about 3% of sales. The

company does not face an imminent financial crisis.

Having made this comment, there are clearly matters that should concern

Davrina's board.

(a) Sales revenue growth. Although sales revenue increased by 33% in 20X7,
this rate of growth is substantially lower than the 48% growth enjoyed in
20X6. The UK in particular experienced very strong sales revenue growth.
The USA and the EU regions enjoyed sales growth of 45% or more, but in

the USA the strong growth comes after a relatively disappointing
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performance in 20X6 and the rate of growth has fallen in the EU. A greater
concern is the fall in the rate of sales growth in the Rest of the World,
down from 52% in 20X6 to just 13% in 20X7.

The evidence of a slow-down in sales is not yet convincing, but this is an
aspect of performance that Davrina's management need to keep under
close review.

The average number of units per customer order in 20X7 was 2.1
compared to 2.3 in 20X6 representing a fall of 8.7%. However this is
offset by a 16.7% increase in average sales price per unit from £8.50 in
20X6 to £9.92 in 20X7. The increase in average price per unit may
indicate that Davrina's target market is changing with customers moving
towards higher priced, more differentiated cosmetics and beauty products.
This is further supported by the analysis by product type, which indicates
that in 20X7 67% of sales are products priced at £9.99 or above. (Product
types C-E). This information will help Davrina to focus its sales and
marketing efforts towards the appropriate market segment helping to
support further sales and increase revenue going forward.

Analysis of sales by product shows that only 3% of sales revenue is
generated by products in the Product B pricing category. Davrina should
re-assess this pricing point and consider whether products in this range
should be discontinued or re-priced to prove more attractive to customers.
Further analysis should be carried out to understand the profitability of
these products and whether they are complementary products that attract
customers to the website, supporting sales of other ranges.

Detailed analysis of sales further reveals that Davrina experiences
seasonality, with 33% of revenues being generated in December and 76%
of sales arising in the last 4 months of the year. The data suggests that
customers buy more beauty products during the winter, in preparation for
Christmas and possibly as gifts, which will help Davrina to develop its
marketing strategy. However, the seasonal nature of sales also has
significant cashflow implications. Davrina needs to ensure that sufficient
cash is available between January and September to support business
operations.

Costs in 20X7 as a percentage of sales were higher than in 20X6 at 45%
compared to 41%, and as a result operating profit (£) was 42% lower than
in 20X6. Operating profit margin fell from 11.1% to just 4.8%. The ratio of
distribution costs and payroll costs to sales have increased in 20XY by
11% and 14% respectively: these aspects of costs should be monitored
closely, and should not be allowed to increase unnecessarily. The
company has also more than doubled its marketing spending, which may
be another sign of increasing competition in the market. However given
the increase in sales revenue in 20X7, the increase in marketing spending
may have been very effective. The board of Davrina should ask
management to explain the increases in costs, if they have not done so
already.
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(f)

(h)

()

Depreciation and amortisation charges in 20X7 amounted to 13.7% of the
value of non-current assets at the end of the year. We do not have details
of depreciation and amortisation rates, but it might be appropriate to
review the policy on amortisation of intangible assets, to ensure that these
are being written off over a suitable length of time.

It might also be appropriate to check with Davrina's management the level
of spending on IT. IT costs in 20X6 and 20X7 were just 1.4% and 1.3% of
sales revenue respectively (although a large proportion of payroll costs as
well as amortisation charges may also relate to IT). This appears to be a
low level of spending for an online sales company. It may be possible to
compare these costs with similar costs of other online selling companies
that publish their annual accounts.

The segmental analysis indicates that in 20X7 some regions performed
more profitably than others. Gross profit margins in the UK and USA
were around 52% and 55% respectively compared to approximately 49%
for the rest of the world. We do not have any previous year figures for
analysis of trends, but it would appear that financial performance is not
consistent between geographical regions.

The segmental analysis also reveals the extent to which distribution
expenses reduce profit margins. After taking account of distribution costs,
the UK gross profit margin fell to around 38% whereas it was even lower
for the USA and the rest of the world at approximately 33% and 30%
respectively. As the number of items per customer order falls Davrina
should naturally start to see a reduction in distribution costs in order to
strengthen profit margins Davina needs to examine other ways to control
distribution costs.

There is limited information about the cash flows of the company. It might
be expected that a company making profit after tax of £14.2 million in
20X7 and £27.2 million in 20X6 should enjoy strong liquidity. This is not
the case with Davrina which is particularly concerning given that Davrina
requires a healthy cash position to support the first 9 months of the year
where sales are low. At the end of 20X7 its cash holdings were only
£2.7 million and it had non-current liabilities of £60 million — most or all of
which appears to be medium-term debt. It seems likely that the poor
liquidity is due to the fact that the company distributes a large proportion
of its profits as dividends (see below). It may also invests large amounts
in non-current assets.

The board has a progressive dividend policy and in 20X7 dividend
payments were £1.30 per share. On 8 million shares, this means total
dividend payments of £10.4 million. Profit after tax for the year was

£14.2 million, indicating that the company is reinvesting only a fairly small
proportion of its earnings in the business. A low rate of reinvestment is
likely to restrict opportunities for future growth in the business.

EPS in 20X7 was £1.775 (£14.2 million/8 million). The P/E ratio has fallen
to 28, indicating a share price of £49.70 per share. Dividend yield is
therefore 2.6%. This would probably be considered reasonable in a
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growing company, but investors may expect a higher yield if the company
goes 'ex growth'.

The current state of Davrina's IT system is not a financial issue, except
that the current IT system does not have the capabilities of some of
Davrina's rivals and further spending of at least £5 million will be needed
to upgrade the IT system next year. This may have a beneficial effect on
sales volume, but spending on upgrading the IT system will entail further
borrowing, either through a bank loan or leasing, the servicing of which will
put further pressure on cash flows.

(m) Investors would seem to be concerned about the future prospects of

Davrina. The share price fell by one-third on the announcement of its 20X7
results and shares are trading on a much lower multiple of earnings than
two years ago. The share price is still trading on a high P/E multiple,
suggesting that investors are still expecting growth, but it is probable that
expectations of future growth are not as high as they used to be. This
investor sentiment may apply specifically to Davrina, or may apply more
generally to high-growth IT companies. Companies are most unlikely to
sustain very high P/E multiples for an extended length of time, and a
'market correction' could occur in the not too distant future.

In summary, the financial prospects of Davrina may be less strong than they
appeared two years ago, and there are aspects of financial performance that
management should seek to improve — sales growth, cost control and liquidity
or cash flow management seem to be the most critical areas for review and
improvement. However, it appears that Davrina's target market is changing
and moving more towards sales of higher priced products, giving Davrina
scope to target a new market and increase revenues.

Workings — analysis of Exhibit 1

A B Cc D
1 Analysis of Exhibit 1
2 20X7 20X6 % change
3 £'000 £'000
4 | Revenue 461,300 346,000 33%
5 | Cost of sales (232,500) (166,100) 40%
6 | Gross profit 228,800 179,900 27%
7
8
9 | Total operating costs (206,500) (141,600) 46%
10 | Costs as % of sales 45% 41% 9%
11 | Operating profit 22,300 38,300 -42%
12 | Operating profit margin 4.8% 11.1% -56%
13
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A B C D
14 | Distribution costs:sales ratio 15.0% 13.6% 1%
15 | Payroll costs: sales ratio 9.8% 8.6% 14%
16 | IT costs: sales ratio 1.3% 1.4% -5%
17 | Depreciation as % non 13.7%
current assets

Workings — analysis of Exhibit 2

Tutorial note — the workings show examples of calculations that a candidate
could perform using the pre-populated data.

Analysis of Product Revenue (Column D) uses Nested IF statements, which
involves grouping several IF statements together.

For example the product revenue calculation (Cell D18) firstly identifies the
product type from Column C. The formula then finds the corresponding price
from the question data and multiplies it by the quantity ordered (Cell B18).
The formula is as follows:

=IF(C18=$A%4,$B$4*B18,IF(C18=$A$5,$B$5*B18,IF(C18=$A$6,$B$6*B18, IF
(C18=$A$7,$B$7*B18,IF(C18=$A$8,$B$8*B18,IF)))))

A B C D
1 Question data
2
3 Product Price point
4 | A 4.99
5 |B 7.99
6 |C 9.99
7 |D 11.99
8 |E 13.99
9
10 | Customers 22,100
1
12 | Note:
13 | Columns A-C have been copied from the question
14 | Column D shows the calculations expected by candidates
15
16 | Monthly Quantity Product type Product
purchases ordered revenue
17 £
18 | Feb 213 A 1063
19 | Jan 218 E 3050
20 | Dec 1776 D 21294
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B C D
21 | Feb 103 C 1029
22 | Feb 198 C 1978
23 | Apr 364 A 1816
24 | Mar 263 D 3153
25 | Jun 781 A 3897
26 | Apr 298 E 4169
27 | Dec 3165 A 15793
28 | Apr 101 B 807
29 | May 119 B 951
30 | May 176 A 878
31 | July 1932 D 23165
32 | Oct 1456 E 20369
33 | July 349 D 4185
34 | Oct 1035 A 5165
35 | July 345 E 4827
36 | Sept 1071 D 12841
37 | Aug 1032 C 10310
38 | Aug 1012 E 14158
39 | Dec 2016 D 24172
40 | Aug 2052 A 10239
41 | Dec 2737 E 38291
42 | Sept 1046 D 12542
43 | Sept 2041 A 10185
44 | May 269 C 2687
45 | Oct 2734 C 27313
46 | Oct 1046 A 5220
47 | Sept 1034 B 8262
48 | Oct 1051 E 14703
49 | Nov 3022 D 36234
50 | Nov 2891 E 40445
51 | Dec 1069 C 10679
52 | Nov 1301 E 18201
53 | Jan 360 C 3596
54 | Mar 323 E 4519
55 | Dec 2067 A 10314
56 | Dec 2346 C 23437
57 | Aug 1075 A 5364
58
59 | TOTAL 46,487 461,300
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(2)

Summary

A B C D E F G H

61 £
62 | Average sales price per 9.92

unit
63 | Average units per 2.10

customer
64
65
66 | Analysis by product type
67 Product | Product | Product | Product | Product | TOTAL

A B C D E

68 | Volume 14,015 1,254 8,111 11,475 11,632 | 46,487
69 | Price 4,99 7.99 9.99 11.99 13.99
70 | Revenue 69,935 10,019 | 81,029 | 137,585 | 162,732 | 461,300
71 | % of total volume 30% 3% 17% 25% 25%
72 |
73 | Analysis by month Jan Feb Mar Apr May Jun
74 | Volume ‘ 578 514 586 763 564 781
75 | % of total volume 1% 1% 1% 2% 1% 2%
76
77 Jul Aug Sept Oct Nov Dec
78 | Volume 2626 5171 5192 7322 7214 15,176
79 | % of total volume 6% 11% 11% 16% 16% 33%
80 |

The formula in cell C68 is =SUMIF($C$18:$C$57,"A",$B$18:$B$57)
The formula in cell C74 is =SUMIF($A$18:$A%$57,"Jan",$B$18:$B$57)
Strategy of growth through acquisitions

Introduction

It is highly probable that in order to maintain a high P/E ratio for the share
price, the company must offer investors prospects of strong earnings growth in
the future. If the business no longer has the capability of growing organically at
the same rate as in the past, achieving growth through acquisitions may be a

viable alternative strategy.

We do not have much detail about the proposed strategy for growth. Unless

target companies are in much the same sort of business as Davrina, an

acquisitions strategy is likely to change the business profile and business
model of the company. The board of Davrina should be able to express a clear
strategic objective for the growing company, in order to maintain investor
confidence and support. An indiscriminate acquisitions 'spree’ is likely to have
a detrimental effect.

Advantages and disadvantages of an acquisition-led growth strategy

The main attraction of a strategy of growth through acquisitions is that it is
usually possible to achieve a much faster rate of growth in revenues and profit
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than with a strategy of organic growth. If the Davrina board is hoping to move
from the AIM market to a listing on the main London market, the further growth
in the business that may be necessary as a pre-condition for a full listing can
probably be achieved most easily through acquisition-led growth.

However there are a considerable number of disadvantages to an acquisition
strategy, especially in technology markets.

(a) The purchase cost of IT businesses is often high, and based on
expectations of future growth and profitability, without a track record of
historical revenues and profits. We are told that Davrina would be looking
to acquire newly-established online retailing businesses, where the
business risk is presumably high.

(b) Organic growth can be achieved with a single IT system and web site.
With each new acquisition, Davrina would be acquiring a different web site
and a different IT system. It would then face the choice of maintaining a
number of different IT systems, one for each separate business, or trying
to integrate all the businesses into the same IT system — a task that may
be time-consuming, difficult and costly. Acquisitions may be made in the
expectation of cost-savings through synergy, such as sharing the same IT
platform, but synergy may be very difficult to achieve in practice, and this
will affect profits, EPS and, presumably, the share price.

(c) Growth by moving into new product areas can be risky. (This applies to
organic growth too, but the risk with organic growth is less because the
time frame would be longer.) Davrina would need to select suitable niche
markets, and hope that bigger competitors will not expand into the same
market sector. Entry costs into a new market niche for established online
retailers may be fairly low, so risks of new competitors after making an
acquisition could be high.

(d) If Davrina intends to move all acquired businesses on to the same IT
platform, it may be asked why it should not establish its own new
businesses rather than acquire other companies and integrate systems.

Some business risks facing Davrina will be the same no matter whether it tries
to grow through acquisitions or organically. Competition is likely to be a major
threat, and IT companies must always be prepared to update their systems
whenever significant new technological developments occur. With online
retailing of physical products, there is likely to be a threat to profitability from
customer demands for lower prices as the online market grows, and rising
costs of distributions and returns.

In summary, an acquisition-led growth strategy is a high risk strategy, and the
decision of Davrina's board may depend on the risk appetite of the board and
the views/expectations of major shareholders.
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Financial reporting implications

Acquisitions of IT companies typically result in payment of a purchase price
that is well in excess of the fair value of the net tangible assets acquired. On
acquisition, there may be recognition of some intangible assets, such as
software, databases, internet domains or customer lists — these would be
recognised at fair value. The remaining balance of the purchase price would
be accounted for, on consolidation, as purchased goodwill.

With IAS 38, Intangible Assets, there is a presumption that it is possible to
establish the fair value of any intangible assets being acquired (and therefore
the cost of those assets) reliably. Any such assets must also be identifiable
and under the control of the acquirer, and there must be a probability of future
economic benefits from the assets.

Intangible assets, when recognised, should be amortised on a systematic
basis over their expected useful lives (unless the expected life is indefinite,
which is unlikely in the case of acquiring an IT company).

Purchased goodwill is not amortised but must be subject to annual impairment
reviews. Any impairments in value are written off to profit or loss. When an IT
company has large amounts of goodwill in its reported financial statements,
the risk of impairment can be high.

A strategy of growth through acquisition in the IT market will therefore affect
reported performance through the additional profitability that the acquired
entities bring to the group. However, there could also be additional costs on
consolidation due to the amortisation of intangibles and impairment of
goodwill. The overall effect on reported group profits will depend on the
underlying profitability of the acquired business.

In addition, there is also likely to be a substantial increase in intangible assets
in the consolidated statement of financial position.

Implications of acquisition strategy for financing costs

In addition to the possibility of a change (increase) in the strategic risk profile
of the company, there will also be some increase in the cost of equity — and
the returns expected by shareholders — if Davrina increases its financial
gearing — and financial risk.

e The current value of Davrina's equity = Earnings x 28 = £14.2 million x 28
= £397.6 million. The treasurer has indicated that the cost of equity is
around 15%.

e The current book value of Davrina's debt capital is £60 million. This has an
after-tax cost of 4.8% (6% less tax relief). If the company undertakes an
expansion programme financed by £100 million of new debt, total debt will
increase to about £160 million.

We can estimate how the new borrowing might affect the cost of equity in
Davrina, using the assumptions suggested by Modigliani and Miller. There will
be some increase in the cost of Davrina's equity and there there will be a
decrease in the weighted average cost of capital.
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3)

In summary, the board of Davrina needs to be confident that an acquisitions
strategy will generate growth in earnings. Making acquisitions for relatively
small growth will disappoint shareholders and affect the share price.

The treasurer, Dave Jackson, has indicated that it might be preferable for the
company to seek fixed-rate debt to finance its growth. It may be difficult for
Davrina to borrow for the medium or long term at a fixed rate. Bank lending is
more likely to be at a variable rate over the medium term. However if the
company borrows at a variable rate, it should be able to swap its net liabilities
into a fixed rate with an interest rate swap.

Valuation for Ethernaze

Ethernaze is a supplier of products that Davrina sells through its web sites. It
is not a major supplier to Davrina. Total purchases from Ethernaze in 20X7
were £340,000, and the total cost of sales of Davrina in 20X7 was

£232.5 million.

Davrina's management are unlikely to have much expertise in the
management of a manufacturing company such as Ethernaze, although
Davrina's operating costs do include some production costs.

From a strategic perspective, there seems little or no benefit to be obtained
from making the acquisition, except as a way of securing a relatively small
source of future supply of goods.

If the board decides that it would like to submit an offer for Ethernaze, a
valuation is difficult because of the poor financial condition of the company. At
the end of December 20X7, the company's assets totalled £177,800 at book
value and its current liabilities, including a maturing bank loan, were £176,900.
The book value of equity was therefore just £900.

The company's liquidity position seems unsustainable. It is difficult to see how
Ethernaze's debts — in particular, its bank loan — can be repaid in the next few
months out of operating cash flows. At best, the company's assets would need
to be liquidated to raise cash to pay the liabilities. This is what the owners of
Ethernaze probably have in mind.

As a consequence an assets-based valuation of Ethernaze is not appropriate,
because the realisable value of the company's assets after repaying the
company's debts may be close to (or perhaps less than) zero.

A valuation based on comparisons with similar companies would also be
difficult, given the low or non-existent profits of the company and the difficulty
of finding a comparable listed company to use as a benchmark for the
valuation.

It therefore seems inevitable that any valuation of Ethernaze should be based
on a DCF analysis of the additional cash flows that Davrina might expect to
gain from the acquisition. Ethernaze seems to be making little or no profit, and
may even be operating at a loss. It may be achieving gross profit of about
£170,000 per year (50% of sales of £340,000 to Davrina), but it also has other
operating costs. These may well include salaries for the current owner-
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(4)

directors, which means that there may be only a small cash surplus from
operations each year.

Without more information it is not possible to suggest an offer price for
Ethernaze shares. The owners want an 'honest price', but the company needs
an injection of new finance to avoid insolvency. Acquiring Ethernaze would
have little or no strategic benefit for Davrina and it is surprising that the
directors are even considering an offer. At best, any offer should be small;
however our firm should not recommend any purchase price that it cannot, in
its professional opinion, justify to the client.

CRM and the lease or buy decision

Customer relationship management (CRM) involves the use of database
technology and IT systems to help an organisation develop long-term and
mutually valuable relationships with its customers.

A typical CRM system will involve a more comprehensive database than the
one currently operated by Davrina and which can be accessed wherever the
customer interacts with the company — through website transactions, contact
with sales teams, queries to call centres and other order processing functions.
All participants in Davrina's customer-facing processes — sales, customer
service, marketing — can coordinate their efforts so that the customer receives a
consistent and suitable service, such as targeted marketing campaigns rather
than the current 'broad brush' approach.

CRM software and its associated hardware will provide the data to help
Davrina to provide the products that its customers want, provide better
customer service, help the marketing team to cross-sell and up-sell products,
attract new customers and better understand who its customers are. These
benefits will come from CRM software's ability to:

e track a customer's account history to help to personalise the products and
services that each one receives

e measure marketing campaigns, analysing customer ‘clicks' and
subsequent sales

e 'mine’ data to identify purchasing trends in each market
e aggregate transaction information to provide KPIs for the business
¢ help with forecasting by using sales history to generate sales projections

From the analysis of Davrina's financial situation given above it seems that the
company has benefited from increased marketing spending, with increased
sales revenue in 20X7. Investment in a CRM system could be expected to
continue this trend as management seeks to improve sales growth.

The lease or buy decision

The cost of capital that should be applied to the cash flows for the financing
decision for the new system is the after-tax cost of borrowing: 6% x 80% =
4.8%:; say 5%.
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To purchase the system outright has an NPV of £784,100:

Purchase
A B C D E F

1 £'000

2 | Year 1 2 3 4 5 6

3 | Writing down value 0 1200 | 960" 768 614.4 | 4915

4 | WDA @20% 0 240 192 | 153.6 | 1229 |98.3

5 | Software maintenance | (90) (90) (90) (90) (90) (90)
and support

6 | Increased sales 1500 1500 1500 1500 1500 1500
revenue
Net cashflow 1410 1650 | 1602 | 1563.6 | 1532.9 | 98.3
PV 6784.12

10 | Less system cost (6000)

11 | NPV of purchase 784.1

Notes

1 =C3-C4 The formula can be copied in Cells E3:G3
2 =NPV(0.05,B7:G7)

This should be considered in relation to Davrina's overall borrowing position.
The company has been given indications that it should be able to raise up to
£100 million in bank loans, aimed mainly at potential acquisitions. Borrowing
£6 million, although a relatively small proportion of this total, could affect other
acquisition decisions. The loan could be used in other business functions, or
applied to other investments that could help to grow Davrina's business. The
board will need to decide whether or not the IT upgrade and CRM investment
is a preferred area for investment that will help to further its growth objectives.

Leasing

To lease the system has an NPV of £1,727,800:

A B c D E F G

1 | Year 1 2 3 4 5 6

2 | Interest'£ 270,563 | 221,591 170,170 | 116,179 60,247

3 | Depreciation' £ 1,082,250 | 1,082,250 | 1,082,250 | 1,082,250 | 1,082,250

2 1,352,815 | 1,303,844 | 1,252,424 | 1,198,434 | 1,142,503

5

6 | Tax benefit @20% - 270.56 260.77 250.48 239.69 228.50
£'000

7 | Lease payments £000 | (1250) | (1250) (1250) (1250) (1250)
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A B (o D E F G
8 | Maintenance and (90) (90) (90) (90) (90)
support £'000
9 | Sales revenue £'000 1500 1500 1500 1500 1500
10 | Net cashflow £'000 160.00 430.56 420.77 410.48 399.69 228.50
11 | NPV of leasing® £'000 | 1,727.8

)

Notes

1 Tax benefits arise from interest and amortisation expense (see the table in
section (5) below for workings).

2 =NPV(0.05,810:G10)

From this analysis it is preferable to lease the system, as it has a higher NPV.
Another benefit to consider in regard to leasing is that it is possible that the
system being considered is one which will have been significantly improved in
five years' time, due to continual advances in technology. Davrina's
management might conclude that it prefers to lease the system to be able to
take advantage of upgrades in the future, and not be stuck with an obsolete
technology and faced again with being behind its competitors and their
systems.

IT systems upgrade and effect on financial reporting
Decision to buy

The financial reporting implications of incurring expenditure on website
development (and other software development) are covered by IAS 38,
Intangible Assets and also IAS 36, Impairment of Assets.

Davrina is considering expenditure on IT development. This will inevitably
affect profitability, although the improvements to the systems are also
expected to increase revenues and improve gross profit.

IAS 38 sets out the rules for the recognition of an intangible asset. For
example the asset must be identifiable, it must be expected to provide
economic benefits to the entity and the costs of development must be
measurable reliably. If they meet the criteria for recognition as an intangible
asset, development costs must be capitalised and amortised over their
expected useful life — in this case, a fairly short period of five years, which is
considered a suitable period for IT assets given the speed of innovation in the
industry.

Amortisation costs will therefore be large at £5.5m/5 years = £1.1m per year.
We do not have detailed information on the exact composition of the

£5.5 million website and software costs, so we are assuming here that the
total amount can be recognised as an intangible asset. It could be that some
of these costs would be more appropriately written off to profit in the first year,
for example if there are any preliminary consultancy costs included in that
figure.

The server hardware would be treated as a tangible asset under the provisions
of IAS 16, Property, Plant and Equipment — recorded at cost (£500k) with
£500k/5 years = £100k charged to profit or loss each year.
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The annual amortisation cost and any preliminary costs that are identified
within the £5.5 million will therefore have a direct effect on the reported pre-tax
profits of Davrina, as will the maintenance, training and technical support fees
of 1.5% x £6m = £90,000 each year.

Decision to lease

If Davrina decides to lease the system, the appropriate accounting treatment is
currently dealt with by IFRS 16, Leases. Under this standard, Davrina should
recognise a lease liability consisting of the consisting of the present value of
the future lease payments (PVFLP), in this case, £5,411,250 (see the leasing
NPV above). It should also recognise a right-of-use asset, consisting of the
present value of the future lease payments. With many leases the PVFLP is
adjusted for payments in advance, lease incentives and costs, but none of
those apply here.

The right-of-use asset will be depreciated over the shorter of its useful life and
the lease term (five years in both cases, which is a suitable length of time for
IT assets) and the depreciation charged to profit or loss. The lease liability
should be amortised, with lease payments apportioned between the interest
element and the remaining capital balance.

The maintenance, training and technical support fees of £90,000 each year
will also be chargeable to profit.

The table below summarises the financial effects of the lease each year,
showing the annual interest payment and the figure for depreciation of the
right-of-use asset.

A B C D E F G H
1 Opening | Interest Lease Closing Book
Year balance 5% Principal | payment | liability | Depreciation value
2 £ £ £ £ £ £ £
3|0 - - - — 5,411,250 - |5,411,250
4|1 5,411,250 | 270,563 | 979,437 | 1,250,000 | 4,431,813 1,082,250 | 4,329,000
5|2 4,431,813 | 221,591 | 1,028,409 | 1,250,000 | 3,403,404 1,082,250 | 3,246,750
6|3 3,403,404 | 170,170 | 1,079,830 | 1,250,000 | 2,323,574 1,082,250 | 2,164,500
7|4 2,323,574 | 116,179 | 1,133,821 | 1,250,000 | 1,189,753 1,082,250 | 1,082,250
8|5 1,189,753 | 60,247 | 1,189,753 | 1,250,000 0 1,082,250 -

We do not know whether the development of an upgraded web site will affect
the valuation of the existing web site in the company's statement of financial
position. It seems possible that the upgrade to the system may reduce the fair
value of the existing web site asset. If so, any impairment must be charged to
profit or loss.

In summary, a big investment in website and software development will have a
significant impact on reported profits, whichever financing method is used.
Davrina's board must hope that the improvements will generate the anticipated
increases in revenues and gross profit to offset the costs.
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2 Premier Hearing plc

Marks
1 (a) Evaluate performance. Evaluate whether project is
beneficial. Consider financial and non-financial
benefits, costs and risks.
(b) Explain and critically evaluate methods to determine an 12
appropriate commercial value for digital assets.
2  Set out the assurance and review procedures to be carried 8
out including any underlying assumptions.
3 (a) Calculate annual implicit interest rate
(b) Evaluate choices and provide a reasoned
recommendation. Consider financial, operating and
strategic issues. Show supporting calculations.
(c) Explain financial reporting treatment of the sale of one 12
SIA.
4  Set out ethical issues for the PH board 8
5  Evaluate the ESG performance of PH 5
Total marks 45
Requirement 1.1 (a) SIA project evaluation
Performance review
Revenue (£)
Price 20X0 20X1 20X2
SIA 3,000 - - 14,400,000
DeepBlue 1,800 11,520,000 10,368,000 8,294,000
Audex 800 16,000,000 15,200,000 14,400,000
Gross profit (£)
Margin 20X0 20X1 20X2
SIA 0.40 - - 5,760,000
DeepBlue 0.30 3,456,000 3,110,400 2,488,200
Audex 0.15 2,400,000 2,280,000 2,160,000
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Volume (devices)

20X0 20x1 20X2
SIA - - 4,800
DeepBlue 6,400 5,760 4,608
Audex 20,000 19,000 18,000

Numbers in italics are taken from the question directly — so no credit given
NPV at 31 December 2021: SIA — no growth (£)

31 Dec 20X1 20X2 20X3 20X4 20X5
Gross profit 5,760,000 5,760,000 5,760,000 5,760,000
PV@10% 18,258,425
Outlay 20,000,000
NPV (1,741,575)

Based on the assumption of zero volume growth and constant price over the entire
four year product life cycle, then SIA is expected to generate a negative NPV of
£1,741,575.

This figure is a combination of historic figures and forecasts for which supporting
evidence is required.

Sunk costs are are not ignored as it is a post-implementation evaluation over the
entire product life cycle, not a prospective decision.

Strateqic and non-financial factors

The impact of SIA as part of a portfolio of products needs to be considered (eg,
BCG matrix) rather than considering SIA in isolation.

The sales of both other products are declining.

DeepBlue sales declined by 10% in 20X1 and by 20% in 20X2. This might be due
to the fact it is reaching the end of its product life cycle (estimated to be the end of
20X3) and new competitors' products are outperforming it. The larger decline in
20X2 than 20X1 is consistent with the picture of cross substitution by consumers
switching their purchases to SIA from other PH devices by brand loyal customers.

Audex sales declined by 5% in both 20X1 and 20X2. This might again be due to
the fact it is reaching the end of its product life cycle (estimated to be the end of
20X4).

Without replacement with new devices PH may lose scale and reputation as a
major manufacturer, then its position in the industry may be unsustainable.

Risks

Whilst there is risk in undertaking R&D projects there is also risk in doing nothing.
The SIA project appears to be technologically successful, although the economic
benefits have perhaps not been leveraged to best effect. This might include mis-
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pricing or inadequate marketing. However, it could also be that the SIA takes time
to establish itself in the market in the first year and once established greater sales
may be achieved. Alternatively, as for DeepBlue and Audex, the first year may be
the best year and sales may decline thereafter.

The negative NPV £1,741,575 is a point estimate of zero growth expected
volumes and cash inflows. However, both revenues and costs are subject to error
in either direction and there may be a wide dispersion of expected outcomes. This
could be due, for example, to revenues being higher or lower within the expected
remaining period of the life cycle. Alternatively, it could be that the life cycle itself is
longer or shorter than currently expected.

The 10% discount rate includes a risk element, but this rate may not be
appropriate or may change over time.

Monitoring and continued review

This post-implementation internal assurance and review engagement may
establish evidence at the current point in the SIA product life cycle. However,
given the significance of the project, feedback to the board should be a continuous
process rather than a one-off exercise. ldentification of leading indicators that can
help predict future difficulties is particularly important. For example, falling
customer satisfaction can result in future falls in revenue and a decline in the
company's brand reputation. However, in order to monitor this threat to future
performance, the board needs regular reviews on customer satisfaction.

Is the SIA project likely to be ultimately beneficial to PH?

In financial terms, the negative NPV, based the first-year sales being repeated
over the product cycle, indicates that the SIA project will not be beneficial.
However, the key assumption underlying whether it will be ultimately beneficial is
the finance director's assumption of constant sales volumes. The data indicates
that SIA will not prove ultimately successful, but this assumption is subject to
uncertainty as the FD admits.

Moreover, the existing two products are unlikely to represent a sustainable product
portfolio on their own. Without replacement, with new devices such as SIA, PH's
position in the market is questionable in attaining critical mass. If PH loses scale
and reputation as a major manufacturer, then its position in the industry may be
unsustainable.

So, in the absence of other products being developed, SIA may be the best
opportunity to sustain the business and may therefore prove ultimately beneficial
to PH.

Requirement 1.1 (b) Digital asset valuation

Valuing internally generated intangible assets such as digital assets relating to SIA
is subject to a high degree of estimation uncertainty. This arises for a number of
reasons:

e There is unlikely to be an active external market for assets identical to PH's
digital assets where traded prices can be observed. Such assets tend to be
unique.
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e Cash flows are not generated independently, but only in combination with SIA
digital devices and other tangible and intangible assets owned by PH. Cash
flows are therefore difficult to attribute to individual digital assets.

e External markets for PH's devices are changing, competitive and uncertain.
Forecasting end-product cash flows is therefore difficult, even before trying to
allocate these flows to source digital assets.

Despite these difficulties, the exercise of estimating a value for digital assets may
be useful in establishing their worth to the business and informing future decisions
in R&D investment.

The software supporting SIA devices

Whilst there is not an active market for assets identical to SIA software, there may
be some market trades for similar assets where prices can be adjusted. An
example might be where a company is withdrawing from a market related to
hearing aids and is selling off its assets. Alternatively, where a company is being
dissolved and the liquidator is selling off assets, software for broadly similar digital
assets may be available in a related market to hearing aids.

Where there are no observable sales transactions for similar digital assets, then
establishing capitalised current value of the incremental cash flows that will occur
as a result of having the SIA software rights, compared with not having the rights,
would provide an estimated value. In this case, the R&D costs and 20X2 SIA
historic cash flows should be ignored and it is only the remaining incremental
future cash flows that are relevant to determine the current value of the digital
assets.

The post-implementation internal assurance review for SIA may help identify these
cash flows. However, this would be a valuation for PH's use, it is not an indication
of a value to a third party who may wish to acquire the digital asset. In this respect,
it is essential to determine the purpose of the valuation for the valuation to be
meaningful.

The data captured from each user's SIA device

The data captured by PH from SIA is a much more difficult digital asset to value
than the SIA software, as a current use has not been established.

Nevertheless, similar principles apply in determining the value. Ascertaining
whether the data can be sold (after anonymising) by observing any publicly
available information on data sale in the industry.

If there are no such sales, then establishing how the data is likely to be analysed
and used by PH may provide a means to obtain a rough estimate of incremental

cash flow streams (eg, to generate more sales by understanding customer usage
or by improving future products and software).

However, in the absence of identifying a specific future use for the data, then any
valuation becomes almost meaningless.
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Requirement 2 — Internal assurance review procedures

Historic data

Procedures to gather evidence are:

The PV estimate of R&D costs asserted by the FD as £20 million needs to be
substantiated. Obtain an analysis of the individual amounts comprising the
total figure and ensure they are incremental cash flows that would not have
occurred if the SIA project had not taken place (eg, exclude depreciation on
buildings, fixed salary costs and other fixed costs and allocated overheads).

Assess whether 10% is an appropriate annual risk adjusted rate using market
risk adjusted factor models of share price return. Obtain evidence for the sales
of SIA made during the year 20X2 to date from sales and marketing records.

Obtain evidence of operating costs incurred in 20X2 to evidence the 40%
GPM. Ensure only incremental cash costs are included.

Attempt to estimate the sales of the other two products (DeepBlue and Audex)
that were lost through customers buying SIA instead of these (substitution
effect). Evidence could include, from customer records, purchases of SIA
made by existing customers who had purchased other PH products in the
past, but now switched to SIA. This might be low because of the large price
differences, or high due to brand loyalty.

Forecast data

Evidence is required on future growth rates based on a range of prices to test the
FD's assumption of constant growth. Procedures may include:

Examine any original forecasts of SIA sales at the time of launch and any
revised forecasts based on the fact that 20X2 sales volumes were
'disappointing' according to the marketing director. Seek explanations from
marketing for variances.

Evaluate the consistency and reasonableness of assumptions underlying
forecast sales and incremental costs in accordance with ISAE 3400 The
Examination of Prospective Information.

Market research could evidence customer attitudes and whether 20X2 is likely
to be typical of future years (eg, it may be a year of establishing SIA and it
becoming known).

Discuss trends with participants in distribution channels about the popularity of
SIA compared with rivals' products.

Evidence of new rival products to enter the market within life cycle eg,
evidence of new patents, industry intelligence of new and potential products
from rivals.

Baseline assumption of what would have happened in the absence of SIA
introduction (eg, to other to products, but also reputational effects) eg,
examine original budgets before SIA introduced.
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e Evidence supporting the assertion of a four-year life cycle needs to be
considered. Is the cycle estimated to end suddenly or decline over time? If
sales are expected to decline over the cycle, then a zero-growth assumption
may be optimistic.

e Evaluate potential for new products by PH's R&D department. This could be
positive if replacement products for SIA (eg, second generation) are being
developed that leverage the initial R&D research on SIA to extend product life
cycle or create a new, second generation, life cycle.

e PH's new R&D could have a negative impact on the benefits of SIA if a new
product is coming online from separate research which will displace SIA sales.

¢ In addition to the sale of SIA devices, additional income streams may be
achievable. This includes revenues generated from using the data collected by
SIA or by selling the data (see digital asset valuation below).

Requirement 3 — Proposed new pricing strategies (Exhibit 3)
3(a) Annual return earned by the bank
For each device sold, the bank pays £2,539

The bank receives quarterly subscriptions in arrears of £319.66 for 12 periods.

AF12 periods = £2,539/£319.66 = 7.943
Quarterly return from body of annuity tables = 7%
Annual return generated = (1.074 - 1) = 31%

3(b) Evaluation of the three pricing choices
Choice 1 — sale with immediate cash receipt from consumer
Cash generated on 1 January 20X3 is £1,200 (£3,000 x 40%)
Choice 2 — subscription model collecting quarterly fees from consumer

PV of cash generated on 1 January 20X3 using 10% risk adjusted discount
rate is: Quarterly rate is (1.1)"4 -1 =2.411%

NPV = £3,296.74 — (£3,000 x 0.6) = £1,496.74 (per workings below)
Alternative approach — IRR

AF12 periods = £3,000/£319.66 = 9.385
Quarterly return from body of annuity tables = 4%
Annual return generated = (1.04* - 1) = 17%
Workings

Period Cash flow PV @2.411%

0 319.66

1 319.66 312.13

2 319.66 304.79

3 319.66 297.61
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b)

Period Cash flow PV @2.411%

4 319.66 290.60
) 319.66 283.76
6 319.66 277.08
7 319.66 270.56
8 319.66 264.19
9 319.66 257.97
10 319.66 251.90
11 319.66 245.97
12 319.66 240.18
PV £3,296.74

Alternative method using annuity formula

AF =1/0.02411 x (1 = 1/(1.02411)12)

Alternatively, can use the PV function in the spreadsheet
=PV(0.02411,12,319.66,,0) gives £3,296.74

Choice 3 — subscription model selling rights to subscription fees to bank

Cash generated on 1 January 20X3 is
= £2,539 — (£3,000x 0.6) = £739

Summary

NPV £
Choice 1 1,200.00
Choice 2 1,496.74
Choice 3 739.00

Evaluation discussion

Based on the NPVs amounts alone, choice 2 is preferred as it gives the
highest NPV based on the data provided.

However, the analysis should not just consider the sale of a single device. If
the marketing director Andy is correct, then choices 2 and 3 will generate a
higher sales volume than choice 1. Although the extent of the increase in sales
volume is uncertain, it is likely to be the same as for choices 2 and 3 as the
consumer will be unaware that PH has sold the debt.

A factor to consider is liquidity. In 20X2, PH was receiving all the cash
immediately on making the sale (per choice 1). Converting to the subscription
model in choice 2 may create liquidity issues as cash received would initially
be much lower as only quarterly payments from current year sales would be
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received. The full operating cost of £1,800 would also still need to be paid.
This is a temporary problem as, in steady state, quarterly cash payments will
be received from current and previous years' sales.

Choice 3 will also receive an upfront cash payment. It is lower per unit but may
be higher overall depending on the impact on sales volumes. However,
operating costs are variable and will also increase with sales volumes.

Irrecoverable debts relating to quarterly subscription payments is an issue with
choice 2. For choice 1, where cash is received immediately, there is no issue
with irrecoverable debts. Similarly, for choice 3, the debts are sold without
recourse, so irrecoverable debts are not an issue as cash is received up front.

Reasoned recommendation

Overall, if the cash shortfall can be financed, choice 2 seems the preferred
option. It generates finance income, it has the highest NPV per device and
sales volumes, based on market research, are expected to increase due to
deferred payment (although the interest is an incremental amount paid by the
consumer in addition to the basic price of £3,000 for the device).

Choice 1 is simplest but is restricting sales volumes and does not generate the
finance income of choice 2.

Choice 3 sacrifices a significant proportion of the sales value to the bank,
which is reflected in the bank's high annual return of 31% on the arrangement.

3(c) Financial reporting
Choice 1

Revenue of £3,000 will be recognised along with £1,800 as cost of sales as
risk and rewards have passed to the consumer and all the performance
obligations have been satisfied.

Choice 2

The sale has a significant financing component in accordance with IFRS 15,
as cash receipts are over a long period and there is an issue of the time value
of money.

Revenue recognised should reflect the price the consumer would have paid for
the device if they had paid cash (IFRS 15, para 61). This is £3,000.

Revenue of £3,000 will therefore be recognised for each sale of a hearing aid
as the performance obligation of delivering the device has been completed,
even though the cash has not been received. If there are related services with
the sale (eg, software updates, checking the device and hearing tests) then
these are separate performance obligations and would need to be allocated
out of the £3,000 and recognised separately over the period of the contract.

Interest income is to be recognised. Most appropriately PH would use the
implicit interest rate to discount the quarterly subscription fees to the £3,000
value of the hearing aid device that would be paid in a cash transaction (IFRS
15, para 64).
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The implicit interest rate can be determined as:
AF for 12 periods = £3,000/£319.66 = 9.385
Quarterly return from body of annuity tables = 4%

The workings table below shows interest income recognised in the year
ending 31 December 20X3 for a purchase of one device on 1 January 20X3 as
£430.79.

Interest income workings

b/f Interest (4%) Paid c/f

3000.00 120.00 319.66 2800.34

2800.34 112.01 319.66 2592.69

2592.69 103.71 319.66 2376.74

2376.74 95.07 319.66 2152.15
£430.79

The receivable recognised at 31 December 20X3 would be £2,152.15.
Consideration would need to be given to recognising an impairment loss
allowance if there were any indication the consumer would not be able to pay.

£1,800 would be recognised as cost of sales as for choice 1.
Choice 3

Initially, revenue of £3,000 will be recognised along with £1,800 in cost of
sales.

The initial receivable of £3,000 is then recognised as an asset sale to the
bank, which is acting as a debt factor. The sale is without recourse, so no
rights or obligations are retained by PH.

PH receives a cash asset of £2,539, replacing the value of the accounts
receivable £3,000 in the statement of financial position.

Dr Cash 2,539
Dr Loss on sale 461
Cr Receivables 3,000
As previously, £1,800 would be recognised as cost of sales.

Requirement 4 — Ethics

Length of subscription contracts

Establish the facts. The estimated product life cycle is to 31 December 20X5.
For subscription sales made in 20X3, most of the useful life of the SIA device
falls before this date and therefore the device is likely to be useable and
provide the latest technology available from PH for most of the subscription
period.

Also, even for sales that may take place after 20X3 using the subscription
model, this does not mean that the SIA device is not useable after
31 December 20X5 in accordance with the agreed terms of the contract. It
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may just be that superior technology becomes available from PH (and its
competitors).

The same issues would arise under the cash purchase model used by PH for
20X2 sales. A cash purchase within the product life cycle, would likely have a
period of use which extends beyond the product life cycle, in a similar way to
the subscription model. Ethical issues may arise however if there is not
transparency for the consumer. This may include where a sale is made to an
older, vulnerable consumer where it is known that the device may become
inappropriate over the subscription period (eg, through expected increasing
deterioration in hearing). The honesty and integrity of the PH board would then
be questioned if it knowingly approved or tolerated such a policy in order to
promote its own self-interest in making more sales.

Actions

e Put a policy in place with audiologists to establish whether consumers are
able to make independent and informed judgements. This would establish
a duty of care to consumers by PH, audiologists and their employers This
might include relying on professional assessments of audiologists. Provide
written clear written information to consumers where they cannot hear oral
indications, speaking to consumers' doctors where there are concerns
and seeking to have older patients accompanied by friends/family for
assessment and purchase.

e Provide a cooling off period after signing the subscription contract for
consumers to take advice and reconsider the commitment (this may delay
the sale of the debt under choice 2 so the duty of care would dominate
self-interest).

e Consider an exit clause in the subscription contract, without significant
financial penalty, where consumers could update to new and more
advanced devices within the contract period where the original device
becomes unsuitable or less suitable.

Relationships with audiologists

The ethical risk is that audiologists are being provided with a personal
inducement by PH which will incentivise them to act in their own self-interest,
rather than making an independent assessment of the most suitable hearing
aid for the consumer.

There is therefore a potential conflict of interest between the interests of the
audiologists and the consumers, as PH seeks to align the self-interests of
audiologists with its own self interests.

The possible inducement also creates a potential conflict of interest between
the audiologists and their employers. This is the case as audiologists may
damage the reputation of their employer's business relating to its duty of care.
Audiologists may also recommend PH products, rather than competitors'
products, where they are equivalent to the consumer, but less favourable to
their employer.
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Whilst the conference may be an inducement, it needs to be established
whether this is necessarily the case in impacting the behaviour of audiologists
in a material way. For example,

« are rival companies offering similar seminars?

« are there clear and legitimate business objectives being achieved at the
seminars?

(eg, building relationships, imparting knowledge of recent technology
advances, ensuring knowledge of the suitability of PH devices for different
types of hearing impairment conditions).

« are the costs of the seminars reasonable and proportionate to legitimate
business objectives?

is there evidence of inappropriate recommendations by audiologists
following attendance at seminars?

Overall, the key test is whether a reasonable and informed third party would
consider the attendance at the seminar to influence the professional conduct
and behaviours of audiologists.

Actions

e The board should consider the nature, purposes and costs of the seminar.
Then publish clear aims for the seminar to reinforce legitimate business
purposes.

« Remove the threshold requirement for attendance, so the seminar is not
perceived to be a reward for historically recommending PH devices.

« Change to a 'delegate only' conference (no partners) so it has a clear
business focus.

« Consider relocating to the UK, unless there is clear and legitimate purpose
for locating it in Switzerland.

Requirement 5 — ESG performance
Evaluation of the ESG performance of PH
Economic

Scope 1 carbon emissions represent the carbon emissions created directly
by PH. These are forecast to fall by 27% between 20X1 and 20X2, which
supports the company's claim to be committed to reducing their carbon
emissions, although it falls short of their 40% reduction target. The

emissions per product has fallen by 31.6% from 28.6 kilograms in 20X1 to
19.56 kilograms in 20X2. Hopefully PH's progress towards its reduction in
carbon emissions will improve from 20X3 onwards when it is hoped that 15%
of revenue will be generated from the new product that operates using a
rechargeable battery. This will reduce the number of batteries going to landfill
sites which will reduce the company's Scope 3 carbon emissions.
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Social

PH's claim to value employees is reflected in the statistics given. The increase
in the engagement score from 65% in 20X1 to 87% in 20X2 is the result of
introducing a flexible working week and a work from home policy. Employees
have valued this change which will have a positive impact on workplace
satisfaction.

In terms of equal opportunities, PH does appear to be performing well. The
percentage of female staff was 53% in 20X2, up from 49% in 20X1. A ratio
above 50% is excellent.

Governance

PH complies with all aspects of the UK corporate governance code, which
provides assurance that the governance structure of the company is adequate.
A ratio of 29% of female board members is fairly low, and the company should
try to remedy this as new directors are appointed, especially given the high
proportion of female employees in non-board positions. Similarly, the number
of directors from non-white ethnic background, at only 14% is very low. Having
a board whose composition is not reflective of society as a whole will make it
difficult for the board to truly support diversity and may lead to poor strategic
decisions.

Conclusion

While the production of an ESG report is a good step towards improving PH's
performance in this area, the company needs to make some improvements in
relation to carbon emissions and board composition to show a true
commitment to ESG.
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